
11. The Article
Questions

a  Articles must match the noun they modify in:
a. Case, Number and Gender
b. Declension
c. Case and Number
d. Number and Gender

b  Why are there twenty four forms of the article but only eight forms of every noun?
a. Because articles are made of only a few letters.
b. Because articles have to be able to be masculine and feminine and neuter.
c. Because articles have more than four cases.
d. There is no logical explanation.

Match the article with the noun it modifies.

5 toi:V 1 lovgouV

3 th:V 2 tevknon

1 touvV 3 hJmerh:V

4 tw:n 4 pivstewn

2 tov 5 ajdelfoi:V
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